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1. 1. How should the Government balance its investment on transport in the UK in future? (Multiple Choice)

More on urban transport
More on inter-urban transport
Keep it the same as now

Totals

Percent Count
50.00% 21
42.86% 18

7.14% 3
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Question Statistics

Mean 1.57

Median 1.50

Variance 0.39

Standard Deviation 0.62

2. 2. What is the biggest challenge for urban transport in cities in the UK? (Multiple Choice)

50.00% -
Percent Count 45.00% -
40.00% -
Politics/decision making 50.00% 29 35.00% -
. o 30.00% -
Funding 31.03% 18 25.00% -
Planning 10.34% 6 20.00% 1
15.00% -
Delivery 5.17% 3 10.00% -
. 5.00% -
Something else 3.45% 2 0.00% :
&’b
&
&
&
g
&\\}
Qo




Question Statistics

Mean 1.81

Median 1.50

Variance 1.08

Standard Deviation 1.04

3. 3. What should the Government be focusing on most in the next few years to support the development of Connected and Autonomous Vehicles? (M

Percent Count
Vehicle technology 1.67% 1
Legislation/regulation 33.33% 20
Infrastructure 35.00% 21
Users/travel behaviour 30.00% 18
Something else 0.00% 0

Totals

Question Statistics

35.00% -

30.00% -

25.00% -

20.00% -

15.00% -

10.00% -

5.00% -
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Mean 2.93

Median 3.00

Variance 0.70

Standard Deviation 0.83




